12@0540 (K12a0540)

Linearized knot diagam

RN

3 7 8 10 11 12 2 1 6 5 4 9

Solving Sequence

: 27—>3—>8 —>4—>1—>90—> - 6 > > — Cy4,C
A knot diagran] T3 a8 g a1l g, e 6510, 5> e

Ideals for irreducible componentfbf Xpar

I = (w*? —ud + .+ 3u—1)

* 1 irreducible components of dim¢ = 0, with total 82 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I*=(u®? —ud +...+3u—1)

(i) Arc colorings

o ()

0
a7 = u
1
as = _u2
U
ag = U
Wt ut+1
a4 pry U4
uw?+1
al = 77,64
—u" —2ud — 2u3
ag = \u® +u” +u® +u
ut? + 3w + 508 + 4ub + 2ut +u? + 1
a12 = \ —yM — 212 — 310 — 248 — 208 — 20t — /2
u?® +6u? + -+ 2ud+u
ag = _u27_5u25+._._u3_~_u
—u*? —10u* + - — 8ud — 3u?
ayp = ut® 4+ 9ut 4+ — w4 u
—u?? —5u?0 . —3ut 4+ 1
ann =\ —u22 — 4020 4. ot — 2
—u™t —16ub + -+ 2u3 +2u
as = \ —u™ — 1505 + ... —2u3 +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u® — 4u™ + ... + 16u — 18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u? 4+ 37+ —3u+ 1
ca, C7 u¥ 4t e = 3u—1
3 ub? — ¥ 4 130 — 2
C4,Cs5, C10 w2 -4+ —3u—1
6 ub? o 4 — 1107w — 521
cs, C12 u®? 4+ 5uBt + - — 208u — 16
Co, C11 u® + 3u® + -+ 4 503u + 88




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 Yy 17y o = 3ly + 1

C2,Ct 2+ 378 =3y 41
c3 yS2 38t . 981y + 4

C4,Cs5, C10 y82—67y81+--~—3y—|—1

C6 y®2 £ 173 - 4 5469401y + 271441

Cs, C12 y®% +65y8 + - - — 5920y + 256

cy, €11 Y32 + 578 + ... — 88625y + 7744




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
= 0.133466 + 1.0006407 —1.27367 — 1.167571 0
= 0.133466 — 1.0006407 —1.27367 4+ 1.167571 0
= —0.532862 + 0.8305721 —0.02430 — 6.148341 0
= —0.532862 — 0.8305721 —0.02430 + 6.148341 0
= 0.524056 4 0.7958191 4.00847 4 2.154981 0. — 3.785891
= 0.524056 — 0.7958191 4.00847 — 2.154981 0.4 3.785891

= —0.284834 + 0.8975511

—0.67768 — 1.288841

—8.00000 + 4.928021

—0.284834 — 0.8975511

—0.67768 + 1.288841

—8.00000 — 4.928021

—0.170246 + 1.0624601

—6.83445 + 2.337271

0

—0.170246 — 1.0624607

—6.83445 — 2.337271

0

—0.749314 4 0.5383161

4.42162 — 7.611841

—4.45987 + 5.778961

—0.749314 — 0.5383161

4.42162 + 7.611841

—4.45987 — 5.778961

= 0.752586 + 0.5294611 8.86798 + 3.354261 0. —3.387371
0.752586 — 0.5294611 8.86798 — 3.354261 0.+ 3.387371

= —0.525332 4+ 0.7518191 0.19898 + 1.806261 —5.15609 + 0.1

= —0.525332 — 0.7518191 0.19898 — 1.806261 —5.15609 4 0.1

= —0.755993 + 0.5177071 5.56056 + 0.948961 —3.15680 + 0.1

= —0.755993 — 0.5177071 5.56056 — 0.948961 —3.15680 + 0.1

= 0.287923 + 1.0449001 —4.82508 + 3.822701 0

= 0.287923 — 1.0449001 —4.82508 — 3.822701 0

= 0.081808 + 1.0820301 —0.0248733 — 0.08477491 0

= 0.081808 — 1.0820301 —0.0248733 + 0.08477491 0

= —0.098958 + 1.0949801 3.18345 4 4.269601 0

= —0.098958 — 1.0949801 3.18345 — 4.269601 0

= 0.781133 + 0.4453711 5.16257 — 1.983431 —3.74120 4+ 0.1

= 0.781133 — 0.4453711 5.16257 4 1.983431 —3.74120 4+ 0.1

—0.785449 + 0.4358831

8.35181 + 6.286571

—0.78678 — 3.843681

—0.785449 — 0.4358831

8.35181 — 6.286571

—0.78678 + 3.843681

0.787695 + 0.4288271

3.81832 — 10.534401

—5.33981 + 6.012571

S| || |e|e|2 || (g e |g|2|e|g|g|g|g|g|g|g|g|g|g|ge|=

0.787695 — 0.4288271

3.81832 + 10.534401

—5.33981 — 6.012571




Solutions to I} V—=1(vol + /=1CS) Cusp shape
= 0.109809 + 1.1029901 —1.33118 — 8.439301 0
= 0.109809 — 1.1029901 —1.33118 + 8.439301 0
= —0.359135 + 1.0564701 —1.102440 — 0.7478411 0
= —0.359135 — 1.0564701 —1.102440 4 0.7478411 0

—0.724858 + 0.4804721

3.67849 — 0.287031

—3.38751 + 3.801481

—0.724858 — 0.4804721

3.67849 + 0.287031

—3.38751 — 3.801481

0.743794 + 0.4484461

3.49632 — 2.845751

—4.21837 + 4.555621

0.743794 — 0.4484461

3.49632 + 2.845751

—4.21837 — 4.555621

= 0.430453 + 1.0531901 —3.25125 + 3.380621 0
= 0.430453 — 1.0531901 —3.25125 — 3.380621 0
= 0.365552 + 1.0841301 —5.57182 — 2.810111 0

0.365552 — 1.0841301 —5.57182 4 2.810111 0

—0.744053 + 0.4147391

—2.14948 4- 4.401741

—9.50950 — 3.742021

—0.744053 — 0.4147391

—2.14948 — 4.401741

—9.50950 + 3.742021

0.679349 + 0.5105661

—1.62052 4 2.052981

—8.39395 — 3.318841

0.679349 — 0.5105661

—1.62052 — 2.052981

—8.39395 + 3.318841

gie|e(e|e|g|g|g|e|g|g|g|e|g|g|g|e|g|eg|g|g|g|g|g|e|ge|ege|g|ge|:

= 0.495189 + 1.0474001 —3.38134 4 2.836431 0
= 0.495189 — 1.0474001 —3.38134 — 2.836431 0
= —0.423498 + 1.0917001 —9.08228 — 3.647881 0
= —0.423498 — 1.0917001 —9.08228 + 3.647881 0
= —0.475657 + 1.0855601 —0.31884 — 6.308321 0
= —0.475657 — 1.0855601 —0.31884 4 6.308321 0
= 0.563996 + 1.0457401 —3.20812 4 2.766941 0
= 0.563996 — 1.0457401 —3.20812 — 2.766941 0
= 0.470135 + 1.0986801 —4.87213 4 10.114901 0
= 0.470135 — 1.0986801 —4.87213 — 10.114901 0
= —0.620596 + 1.0361501 2.94040 + 2.410611 0
= —0.620596 — 1.0361501 2.94040 — 2.410611 0

0.620020 + 1.0425501 7.34120 + 1.853741 0
= 0.620020 — 1.0425501 7.34120 — 1.853741 0




0.567507 + 0.2694371

—1.29725 + 1.346771

—7.56967 — 0.280821

0.567507 — 0.2694371

—1.29725 — 1.346771

—7.56967 + 0.280821

0.609013 + 0.1454641

—2.26753 — 6.008531

—9.43299 + 5.779851

0.609013 — 0.1454641

—2.26753 4 6.008531

—9.43299 — 5.779851

—0.581311 + 0.1803221

2.13139 + 2.216501

—4.07689 — 3.884471

= —0.581311 — 0.1803221

2.13139 — 2.216501

—4.07689 + 3.884471

= —0.572870

—6.20998

—14.2450

Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —0.592434 + 1.0637101 1.94954 — 4.752481 0
u = —0.592434 — 1.0637101 1.94954 + 4.752481 0
uw = —0.618735 4 1.0502507 3.97605 — 6.161371 0
u = —0.618735 — 1.0502507 3.97605 4 6.161371 0
u = 0.595132 4 1.0816201 1.62331 + 7.941051 0
u= 0.595132 — 1.0816207 1.62331 — 7.941051 0
u = —0.587329 + 1.0941107 —4.15024 — 9.464711 0
u = —0.587329 — 1.0941107 —4.15024 4 9.464711 0
u= 0.609197 + 1.0928301 3.23683 4 7.223271 0
u= 0.609197 — 1.0928301 3.23683 — 7.223271 0
u = —0.608118 + 1.0980901 6.38214 — 11.532601 0
uw = —0.608118 — 1.0980907 6.38214 4 11.532601 0
u = 0.606813 4 1.1015701 1.8176 4 15.78041 0
u = 0.606813 — 1.1015701 1.8176 — 15.78041 0
u
u
u
u
u
u
u
u

= 0.421035

—0.786796

—12.6530




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u? + 37+ —3u+1
Ca,C7 w4+t 4+ —3u—1
& ud? — S 4 4 13u -2
C4,C5,C10 u? — B 3u—1
C6 u¥? +uBt 4+ = 1107u — 521
cs, C12 u®? +5u® 4. —208u — 16
C9, C11 u®? + 3u® + - +503u + 88




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

€1 21Ty e = 3ly + 1

Co, C7 y*2 + 37y - =3y + 1
cs y&2 38 4. — 281y 44

C4, C5, C10 Y32 — 67y - =3y +1

C6 y32 F17y% + -+ 5469401y + 271441

Cs, C12 y® + 65y% + -+ — 5920y + 256

Co,C11 Y2 4+ 57y8 + .. — 88625y + 7744




